MONDAY

. — (mixed number) _______

5. 808,088 -9 =

6. What is the probability of rolling a 6 on a dice?

_____outof

7. The book was €45, now it costs €

A,

{10%
L OFF1
o

9. How many edges has a tetrahedron?
10.(10x 20q) +(5x500)=€
11. The place value of the 0 in 2.05 is

|
|
|
|
|
8.7kg=______ g
|

| 12.1,4,9, 16,
‘ 13. What is this shape?

<

' 14. Mark the temperature =2 °Con the /7€
| thermometer. 1 b
g 15120180 = 1Fs
I 16.63.015 + 24.948 ] ff%:
| B

| @Y

. Draw a net of a triangular pyramid.

! 18.7 x 100 = 700
i Tx99=_____

19.74.548 -52307 =
20.50% of €70.00=€
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TUESDAY

6 2
19— %=

2. What is the number before 1,190,900?

7
3w %

4. Double 89.

5. 999,997 +.7=

6. Simplify 4r.

7.997,991 -4 =

8. Draw a 90° turn clockwise.

©—O

9. Can hexagons tessellate?

10. There are 45 bones. If the bones are shared equally
among 9 dogs, how many bones will each dog have?

11. Colour to show 1,250 mL.

\ PL @
| fsoom

¢ N ——
13.1.2<199 [ ITrue [ _|False
14. Colour 52%.
15.800 = 100 =8

800 + 10 =280

800 = 1=2800

800 -01=__.

16.€100.00-€87.50=€

17. 100,000 x 10 =
18. 1,000 , 1,225 1450  __

19. Tess earns €140 per day. How much will she earn in
5 days?

-
20.50+70+90=______
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WEDNESDAY THURSDAY

o l.rT-7= 1.4-%= _—
i ] 2. What is this sh
X~ TN . What is this shape?
U 2.7-= q B —
g 12 i I /
o B L o
3. Mark the temperature -4 °Con | 1 [ [
the thermometer. | B 3.70% of 1 km = .m
= __3"
42— % | 4.42088 =
N }
5. This is 4 net of a \Q y 5.1>-7>049 " True | IFalse
6. Conor has €250. He gives €85 to Mary.
" - ' How much does Conor have left?
| € € _¢
\: | 7.999,909 — 10 =
i 1 8. 45,000 x 10 =
| 6.5l=—v0 1l
I 9.999998 +5=_____
7. Draw a 90° turn anticlockwise.
! | =) 10.02x5=______ T
| | 8. Share €80.00 among 5 people. 11.60x70=______ : g
| € each 12. Mark the temperature +2 °C i %:
; ter. 1 [
9.50+49+41+48+42 = on the Hiermamete: 4 F :%j
l our 2061 13.8,000-3,300= 4 B
| 10. Colour 20%.
‘ 14. What is the chance of rolling an \Q)
E J
i1 even number with a dice?
: in
11. Halve 230.
! The bar chart shows snowfall at a ski resort for the first 3
th 12.15.634 + 82.309 = months of 2 consecutive years,
i 13.63.916 —42.534 =
‘\ 9em
i 14.50% of 32 = oo
1 15. 16,000 — 7,500 = 0

Yri Yr2 Yri1 Yr2 Yri Yr2

16. If you rode your bike for 15 minutes and travelled

9 km, how far will you travel in one hour? 1. How much snow fell n

‘ February, Year 27 s cm
I“ - km 16. Which month saw the lowest snowfall?
' 17.200,000 x 10 = 17. Which month had 6 cm of snowfall? e

18. 55 = (improper fraction) 18. Which two dates had 9 cm of snowfall?
19.(7x200 +(6x50) =€ Al and Al
._ | 20,5152 re 7 False 19. ii;l}czv;/nrﬂgrc;;snow fell altogether F

20. Which year had the most snow?
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PROBLEM-SOLVING

. Which 2 spinners have the same chance of

landing on a 37

__JAandB " TAand C

. Which spinner has the best chance of landing

onal?

Tuesday

Number of Dentist Visits Last Year

Number of Children
oN B O
B T
—
—
|
=

| |
5

Number of Visits

. How many visited a dentist

twice last year?

. In total, how many visited a

dentist at least once?

Wednesday

. Chocolate was priced at €5.50 per 7 kg.

Callum paid €16.50. How many grams of
chocolate did he buy?

g

9 9 §
+ ZDS
1, 2 9 0

Thursday

. Which popcorn box can be made from this net?

I . —
T |
0

2. WhatnumberisatA? .. ..

A

[ |BandC

3,000

Sth Class

978-1-92096-243-2

3,500

4,

10.

1.

12

13.

14.

FRIDAY REVIEW

Draw a 90° turn
anticlockwise.

®—0

3)927=_
. Colour 40%.

.1,4,9,16,

.600,002 -7

. Double 139.

999,998 + 7

15,000 — 3,500

700 + 1=700
700 T = s

Mark the
temperature
—4 °C on the
thermometer.

l @

e=Nway

[ 5
le sty

=5

- EMEE=E S SSES S

Join the dots
to draw 3

S

cubes.
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15.

16.

17.

18.

19.

20.

21.

22,

23.

24,

25.

40% of €60.00

=3

62.125 + 31.249

120168 = .
39.597 — 15.065

There are 42 carrots. If
the carrots are shared
equally among 6 rabbits,
how many carrots will
each rabbit get?

Mike earns €15.50 per
hour. How much will he
earn in 4 hours?

80% of 1 km
= m

80 +90+ 20

" ITrue | |False

Colour 0.72.

300,000 x 10
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